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1. Which statement about volumes is correct? (Select three.)

A. Volumes can be part of different clusters.

B. Each volume belongs to a single cluster.

C. For database applications, different volumes should be used for database files and log files.
D. Volumes in the same cluster must have the same replication level.

E. Volumes can be migrated to different clusters within the same management group.

F. Additional volumes require additional storage nodes in the cluster.

Answer: BCE

2. Where is RAID configured in HP LeftHand SAN solutions?
A. at the volume level

B. at the storage node level

C. at the cluster level

D. at the management group level

Answer: B

3. Which types of host bus adapters (HBA) can be used for the iSCSI protocol? (Select two.)
A. SW iSCSl initiator without a NIC (network interface card)

B. iISCSI HBA with TCP offload engine (TOE)

C. Fibre Channel HBA

D. NIC with SW iSCSI initiator

E. iSCSI HBA with TCP TOE SW iSCSI initiator

Answer: BD

4. Which statements about iSCSI are correct? (Select two.)

A. iISCSI does not offer any security features.

B. iSCSI installation is less complex than Fibre Channel installation.
C. iSCSI is only supported by Microsoft Windows operating systems.
D. iISCSI is available for the most common OS platforms.

E. iSCSIl is a parallel data protocol.
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Answer: BD

5. Which statement is true about the iSCSI initiator?

A. The iSCSI initiator is only active during read operations.

B. The iSCSl initiator represents the LUNSs.

C. The iSCSl initiator resides on the host and connects to the targets.
D. The iSCSl initiator is a software package running on the host.

Answer: C
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